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Log−rank test p=3.963e−01
Hazard Ratio = 0.79
95% CI: 0.46 − 1.37
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Log−rank test p=4.523e−05
Hazard Ratio = 0.29
95% CI: 0.17 − 0.51
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Log−rank test p=1.507e−06
Hazard Ratio = 4.65
95% CI: 2.68 − 8.06
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Log−rank test p=2.794e−03
Hazard Ratio = 0.42
95% CI: 0.24 − 0.74
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Log−rank test p=3.89e−03
Hazard Ratio = 0.21
95% CI: 0.1 − 0.43
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Log−rank test p=3.297e−03
Hazard Ratio = 2.36
95% CI: 1.36 − 4.09
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Log−rank test p=6.369e−03
Hazard Ratio = 0.45
95% CI: 0.26 − 0.79
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Log−rank test p=5.124e−02
Hazard Ratio = 0.58
95% CI: 0.33 − 1
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Log−rank test p=6.209e−02
Hazard Ratio = 0.59
95% CI: 0.34 − 1.02
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Log−rank test p=1.223e−04
Hazard Ratio = 0.33
95% CI: 0.19 − 0.57
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Log−rank test p=8.894e−03
Hazard Ratio = 0.47
95% CI: 0.27 − 0.82
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Log−rank test p=2.178e-03
Hazard Ratio = 2.48
95% CI: 1.43-4.3
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Log−rank test p=1.919e-02
Hazard Ratio = 0.51
95% CI: 0.29-0.88
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